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In summary, the world's population will 
continue to grow as long as the birth rate exceeds 
the death rate; it's as simple as that. When it 
stops growing or starts to shrink, it will mean 
that either the birth rate has gone down or the 
death rate has gone up or a combination of the 
two. Basically, then, there are only two kinds of 
solutions to the population problem. One is a 
`birth rate solution', in which we find ways to 
lower the birth rate. The other is a 'death rate 
solution', in which ways to raise the death rate —
war, famine pestilence — find us. The problem 
could have been avoided by population control, in 
which mankind consciously adjusted the birth 
rate so that a 'death rate solution' did not have to 
occur. 

4. (MOOT skepos2,arasflailceivm vgjo 

6.21OGy15Bada6),y) panY06)020)(03D : 	10x1=10 

(a) (GrOCUMGM6Z5B0(aa 

6)&b0Sprd§20_103Dika MICMS Ub(ol co) of3a) 

poruno ceb6n%0_11s14 vTen2,ceD. 

(i) MGOJOV6)Jo 	 

aucrwloomil 

(6180.eicrucrwl, anDa(3cram)crwl, 

wfmmx.rwl) 

FML-01 	 3 	 P.T.O. 



(ii) avomzon crooLgffrolel 

poiemoananagl 

ceampesyroasi 	 

(cepoa Grii850t, aw-ococgcepoo,j, 
cepouz m84,-) 

(iii) crulogt. ( iceD6yribab MOCQXD,:pS 

a)00)002)6TO mosceAmwarasild 

63cmosr6 	  

(milaDocruJcwocumo, cruoqampo, 

eme,o(3onmo) 

(iv) 6Ma) al)CgiVad 	  

ff?5)6)Ci2) Gai8as)1(o1li, 

m18=5)2feDcw2p qeioceDD_Ilmscon" 

6-rodasilce6)1d9)02)p 6)21SM(M(1,. 

4(1_1011(111ffe, NMOCUrk_125)p, 

2O11(361513a) 

(v) `Wo()C0.46)S crowocop' vcrn 

eio-umo 

0'06K 

(aVr1K Cf)NOt MOQ2)8, 01)ce3c1,CD08 

MIZAGGE)6)06', 

cebyLirsmaioae) 

FML-01 	 4 



(vi) cli§6mo 

vcrn monoonsrri 

(oilanemd, Noidicr3 ("gab, 
n_JuNpiasilmanc8) 

(vii) 63(b menu& crugmmose 

auce;-6-alld, 
amonesb") 

(viii) all@cansilda€Nol coNsoemaNg_g 
aleacwocoo 	airosrril 

((road, crumono, cEb0(Oke30) 

(b) cl21o(tessace6) ,ctsrunecnt22,aRke3. 

(i) memog mosce) cruonn1(mbana)16)ei 
vgaiy, Loiasil@ouooellcono 
polnce3ococrb mooed? 
amgcloasra5164 cos*: 
mosdsbanglos Golecopmda3. 

vcrimari ceppilceNpra? 
(30o.0(06M6613a agnas)2,daD. 

FML-01 	 5 	 3,000 


	Page 1
	Page 2
	Page 3
	Page 4
	Page 5

